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An example of heterogeneous mixture is ‘c.dt"/..l_,'ld’,{r u“‘?;;;; -1
lodine /3T (D) Gasoline ¢ (C) Rock wi (B)  Air I (A)

The scientist who proposed plum pudding theory is J‘_,Etdu."._!,‘;(bz.&uufw .9
Chadwick S} (D) Bohar z{ (C) Goldstein ¢fedf” (8)  Thomson % (A)

H Moseley discovered atomic number in : Ve JIAL L L irg -3
1920 (D) 1913 (C) 1900 (B) 1890 (A)

The number of elements in second period is P P ﬁ/“k'ucéﬁé-/» -4

32 (D) 18 (C) 10 (B) 8 (A)
bbb el L sl Al -5
The bond formed between two atoms due to transfer of electron is called

Co-ordinate & $L7 (D) Metallic' &¥ (C) lonic £¢T (B) Covalent usk (A)

Melting point of sodlum chioride is ebneiy Bty 6
| 1000°C (D) 800°C(C)  600°C (B) 500°C (A)

Pascal is unit of : q.h*;,g!i’u{f’k -7
Pressure ).4 (D) Density (3'4! (C) Area L/ (B) Volume (.éb (A)

Which one of the following is liquid in gas solution ? q-étgtd-{f}‘uﬁgﬁd' -8

Brass J% (D) Cheese /& (C) Butter u“ (B) Fog 4 (A)
S SS LS AR LRSIl -9

Number of moles of solute dissolved in 1 dm? of solution is called

Molarity ({d» (D) Collide %45 (C) Suspension *¥ (B) Solubility (*¢» (A)

" Which one of the following s electrolyte ? | e e Lo 10
Rubber %, (D) Solution of acid /*¥42l (C) Benzene ¢/ #(B) Sugar solution S (A)
Gain of electron by an atom Is called q_t'llftfd' bd:/"g’ﬁ'ﬁ'vf 11

Reduction % (D) Molarity ({Z» (C) Solubility (*d» (B) Oxidation ¢#4/T (A)
‘The halogen which exist in liquid form at room temperature Is q_JI}_rJgu’-'..:Jbélu;}d’rumﬁ#u -12
lodine Q’Jﬂ (D) Fluorine L.Z,,G (C) Bromine g%k (B) Chlorine w.f (A)
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What is an isotope ? Describe the isotopes of hydrogen with diagrams
Explain four steps with examples for writing a chemical formula 4 @y:.ufﬁd’?ﬂw’_ﬁéf.inﬁéyf (B)

5 4;!&;&’;/ Crniydnlplis s 71| (A - 540

4 Bl 9 L.uz_mw}wu{:gﬂj,%{@

M‘f Vapour pressure and discuss different factors which affect the vanmrie areso .

What are covalent compounds ? Write down their properties 5 éﬁy/d’u! f q.:l/k(a..ﬁffuku( (A) ..B/.Ulr

w45 25 1= ) p A8LEY) dan by o/ (UAK) CHEMISTRY (2
a8=/4) (PART 1) ]y} 4sman 2018 - 2020 8 2015 - 2017 : 5"
Q.No.2 Write short answers any Five of the following 5x2=10 (o feliz Lot §y o Lstw) 2 Ay
Define Industrial chemistry and analytical chemistry 4&‘/‘1{6/“( bﬁ) kgLt pb |
' £ 2 (CqoHa2014) SS9 (i lumtBmpatdyeS o] v
Which has more molecules : 9 gram H,0 or 9 gram sugar (Cq2H22014) ? |
Differentiate between compound and mixture 4‘, /i BIAL ,g‘::f}tf vlr
Describe radiotherapy used for the treatment of cancer 4{9;49&4:&&&&&/—" r
Give any two properties of positive rays @;Ji,..-..i_.n“mfdﬁf T AN
Why are noble gases not reactive ? t S sud AN |
What s the trend of ionization energy in a group ? $ c VAL ) | <
¢ VUL £ S S35 e eBnl| A
Why Lanthanides and Actinides are placed separately below periodic table, Explain
Q.No.3 Write short answers any Five of the following 5x2=10 (4;;&}&;&-‘.‘-”0‘ 5&’—-;}-&2 ) 3 A
Define double covalent bond. Give one example also @&JM - Qﬂfhﬂ/g}) !
Differentlate between polar and non polar covalent bond @L‘JM}LM){@:»U( ¥
What do you mean by delta sign and why it develops ? ? bl § ¥ T oS | P
Define freezing point and melting point @ﬂfdl;.ﬁbﬂ&l{-f Wl
What is transition temperature ? Give one example also gigf'dh.l_ﬁ T q..kf},éﬁ‘)l) o
Differentiate between unsaturated solution and supersaturated solution @MJ?L{;;;!@J‘QJ&J? Y
' :4?# %) FPEH ISt 90 em3 Jidyuss 5emd | ¢
If we add 5 cm3 of acetone in water to prepare 90 cm3 of ageous solution. Calculate the
concentration (% viv) of this solution
Write down the method for the preparation of 1 M solution of NaOH ?,'a.‘g PSS 1 LS Tus s | A
Q. No. 4 Write short answers any Five of the following 5x2=10 (4;}7¢L!£/§Caﬂir$§¢.uﬂdj@i) 4 S
Find out the oxidation number of chlorine in KCIO3 q‘-,’o,b'/!g%:‘f T6er 5L KCIO3 | 1
Define spontaneous and non-spontaneous reaction 4(4/'{!0": ld;‘ﬁf t-c)bﬂu'f! g. r
What is meant by Alloy ? S el | r
How sodium metal is obtained from fused sodium chlorid ? ? e Qe Plre M| v
) ;..a:-ru[ u});.gk&)lu’-'ﬂ.g‘fdﬂ;;f f“fp o
Why the second ionization energy of Magnesium is higher than the first one 7 ;
Why Silver and Gold are least reactive ? tur WrLe fdz(‘::chwﬁsb}’ 1
Write two chemical properties of Metals 4‘(:}@5.’*’;15&,.!)? <
What are Halogens and write the colour of two of them 7 . ea_feﬁnc_uﬂwl ? q...ﬂ/k‘/c_- /':.’:i;f A
(L (PARTII ) o3 daman ) '
NOTE : Attempt any Two questions from this part 9x2=18 %j&}mﬁauln:ﬁ.dfc.gﬂ.ﬁdf Oy
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Which one of the following molecule Is diatomic ? P eidnd A2 it
€O, (D) H0 (€) O3 (B) H2(A)

“The isotope C-12 is present in abundance of ? q..t'tguubliqf, C-12 .,,Jr"T
99.7% (D) 989% (C) 97.6% (B) 96.9% (A)

Mendeleev periodic table was based upon the LEQJ&:_GL&LJ.&!

atomic number L% (C) atomic mass J\.Ltl (B) electronic configuration AP (A
completion of a subshell tx ¥ (D)
Transition elements are Sl u'uklﬁ'f'li
all metalloids J¥' ¢ (D) all non-metals Htel (C) all metals ;’*-“rl? (B) all gases ,-»J}L? (A)
¢ fx("»ya....»ﬁ:iufc...;:y‘:u.uf.’_f ML lse S Jjﬁ,ﬂ.xi;}&fﬁﬂ.ﬁ)‘?lg{ o

Considering the electronic configuration of atoms which atom with the given atomic number

will be the most stable one ?
12 (D) 1€ 8(B 6 (A
PR NACY SN F
_ Which one of the following is an electron deficient molecule ?

0; O N; (C) BF; (B) NH; (A)

Which one of the following is amorphous solid ? ' ¢ q—JMﬁlufbgﬁw
glucose ¥ (D) glass .22 (C) sodium chloride ¥LEly (B) dlamond Iz (A)

Which one of the following is soluble In water ? - ¢ o bl LS s
alcohol U3 (D) petrol Uik (C) benzene s (B) ether A1 (A)

The example of suspension Is e Jed Y
| milk #2 (D) mllk of magnesla W57 (C) blood w# (B) starch G.t (A)

The oxidation number of chromium in K,Cr,0; is q../[ﬂjrf TKﬁfgﬂ K,Cr,0,
#14 (D) +7 (C) +6 (B) +2 (A)

Which one of the following Is weak electrolyte ? § AU B S UL 5t

H,80, (D) CH,COOH (C) NaOH (B) NaCl (A)
- Which one of the following non-metal is extremely hard ? b q_.s:"c.gl‘-’d‘eutu’wfgtd’j&u
diamond X435 (D) lodine /3¢T (C) phosphorus (256 (B) graphite J{l‘g/ (A)
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Q. No.2 Write short answers any Five of the following Ex2=10
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How can you differentiate between organic and inorganic chemistry 7 ¢ Lq/uyé.ﬁf&ﬁ;df{.‘@mgwl_@m i
Define atomic mass unit , why it is needed ? t Sibud S - B flest| v
What is the relative atomic mass 7 How itis related to gram ? ) 4.H!I}.x¢,‘,-rffdl¢'-rv( T q.:y{r.uk_fﬂ.&: I
What is the nature of charge on cathode rays 7 ? q_U'.-.c')J waz.di-( r
Differentiate between shell and sub-shell with examples ?U&Ja-ﬁﬁ - 4&5;’# l,gn.aﬁ)'(.f 0
Why the size of an atom does not decrease regularly in a period ? ) t:tpﬂ’u.t’.l f@&'&fkb’ﬁi&ué A
Define ionization energy and give its trend in group a?’qum;.,;ﬁ,fzd.yﬂ!aﬂg-ﬂf téT| <
What s shielding effect ? ¢ ol uufi2] A
Q.No.3 Write short answers any Five of the following 5x2=10 (éﬁw/&ww &&ﬁ-utdib») 3 A)r
Why do atoms react ? i UILJ&:'UU[U:&‘T)}-" !
Metals are good conductor of electricity. Why ? tud -uln }-'}Q.iiﬁé"‘/'?l#' r
What type of bond Is formed in nitrogen melecule ? ¢ :,-.t&u)l,fr?  FRJAL P T
What is Diffusion ? Give one example @dMJJf t 4.{;;}2#5 "
In which form sulphur exists at 100 °C ? e bl ttes iy 100°C| 0
What do you mean by volume/volume % ? t q..:i/U':- % viv| Y
Why the suspension does not form a homogenous mixture ? ¥ Lhdu[ ){r J—P 'r:tu"'-' &
Why do we stir paints thoroughly before using 7 LY, P o Z/leﬁ%f—db‘”‘r“ A
Q.No.4 Write short answers any Five of the following 5x2=10 (%j@i&fﬂﬂaﬂ!rﬂc-dub&w) 4 K.Jlf
Why is galvanizing done ? ¢ ¢ Qeudf: e |
Why is oxygen necessary for rusting ? ¢ q..duﬂ)[ ﬁé‘.&d’ - 31
Define galvanic cell 4:4‘ ﬁf,_]f..{ !kr ¥
Write down the principle of electroplating guydfrf_ﬂtbf*-ﬂi ”
Why is the fonization energy of sodium more than potassium ? ¢ e udwpie AR | o
Why are silver and gold least reactive ? T u_fugr 1 Id:(..-.;li}’):;b)’ 1
Why electropositivity decreases from left to right in a period ? T q_.é.-tf’u[ &k){:}gl.,)lﬂf'l,(_;{';bq &l £
Write down the uses of calcium metal @ﬂw{.dﬁﬁ:’ A
((PARTII )93 4ema )

NOTE : Attempt any Two questions from this part 9x2=18 4;;&&&_-.1}1:-”‘:.3}::.@‘;! Dd
Write down any five properties of canal rays 7 5 g‘,?,iﬂkgdfj | A -5 A0
Write down any four differences between a compound and a Mixture 7 4 zJJ};k.:.MZ./;":ﬁMV' (B)

s e Ssakda A sakd | () -6
Define covalent bond and also write the four properties of covalent compounds

4 B Bie St eipfectist| (B)
What is meant by Evaporation ? Describe the effect of any three factors on it

5 aﬁ.’su&ﬁls»uﬁrﬁ,luv&kﬁm (A) =7 A
Explain construction and working of Down's cell with the help of diagram
Give any four characteristics of colloids 4 ;{“..—._wéwéflﬁzguf (B)
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